I Lan m.aJez Eq’,Mﬂl ,qu,ID‘MP/S n,F 2, 5 and |O

Circle each groun and use the sentence ko .00 how many D/F each groun

there are. Y ou could Lhauzngfz Ajouf/szl/F to add _ lots ,O/F VS z,ci/lual to _
(w)orkinq this ouk bA{Af Lmuntingf in /stzp/s D/F 2.5 or |O)
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HD’MI JTl.a..nAﬂ, zq,ual I}IHMP/S 134: 5 Lan Aj,ﬂM maJez?

There are .......qroups of 5.
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@ @‘ s @r = There are SENS—N e JV3e Y JOF 5.
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There are 5 Qroups Jor,F 2.
S lots Jor,F 2 is zq,ual to |0.

TJ’\.EJ’E are q,!D’M.PIS 1)‘4: 2

TJ’IEIE are I}ID'M.P/S 04: 2
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* # ﬁ ﬁ ﬁ ﬁ * # ﬁ ﬁ There are SENS—N e JV3e Y 0;? | 0.
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Boh is zs}uuinq his ,Fnuit.
Has he made zq,ual x}rmupzs?

ED(PLO.iJ'l A}ﬂu! answer.

Tom AOMA there are 5
@ groups 043 3 tomatoes.
Is he riqht?
Explain MOMY ONSM LY.

3a. Mary has grouped é children into
equal groups of 2. What mistake has she
made?




